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• preparing my seminar at SLAC on July 25, ~1h long

• preparing my talk at DPF on July 30

• finalizing my study for analytic solution of SMEFT

• today: one example for beam polarization reported in Madrid
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recap 7: role of beam polarizations (e.g. at ILC/CLIC)
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• large cancellation in (+1,-1) -> weaker dependence on cWW

• ALR in σZH -> improve cWW, cHL+cHL’ and cHE
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recap 7: role of beam polarizations (e+e- -> Zh)

δσL = − cH + 7.7(8cWW) + . . .

δσR = − cH + 0.6(8cWW) + . . .√s=250 GeV

δσ0 = − cH + 4.6(8cWW) + . . .

(8cWW) ~ 0.16%
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almost cancels out

why?


